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09411710 |ptwlwt ubndywd quq Q<L g 320 5000 1600000
09134200  [nhqbwjht Juinkihp < | hup 540 5000 | 2700000
09132200 [pbught nbgnyjwp Q< thuip 510 1000 510000
Cunwidbup 4810000
09411710 |ptwlwts ubnddws qug Q< lig 320 8000 2560000
09132200 |phiughti nbignejup 9| jhup 480 1500 720000
09134200  |nhgbjwhtu Jwnbihp Q< thuip 540 12000 6480000
Punudkup 9760000
09411710 |puwlwu ubndws quq Q< Ua 0 5000 0
09132200 |pbughu nbgnijwp 9L (hup 0 1000 0
09134200  [nhabjwjht Jwnbijhp Q< thup 0 5000 0
Cunwdbup 0
44111200 ~ |8EUGLWn 9< Ug 60 2500 150000
39221410 Uyt pulwihu < | hun 700 300 210000
39836000 [Uyty unnpuljuit %< | hun 1300 20 26000
44511110/1  JPwh unLp Q< hwwn 1100 10 11000
4451111072 |Pwh phwlwht < | huwn 1500 10 15000
44511390  |Pwhh pplwl /ujny/ G< hwn 900 20 18000
44511170 |$ngfu wygbgnpdwljwt Q& hwn 1500 5 7500
39241250 JUYpwwn dwnbph /Einp/ < hwin 3000 4 12000
44111415 Jubpl 6wbwuwphwiht 9< lg 1100 100 110000
44831500  [Ubipljh nidhs 9 [ hup 850 30 25500
44921200 [Spp thnoh q< Ug 150 300 45000
4411413 |Snuiqwtbiply q< bag 1600 30 48000
39221440  Jdpdhl Uepywpwnwlwu N 3 Gl hwn 600 20 12000
44511700  Rwppw2anLpp G< [ hwwn 2000 2 4000
18141100 JUpluwwnwlpwiht dbnungubip / uhfhlntwwwin / < anyg 250 450 112500
16160000 | Munndnn gugninubin d=15 dd 9< | hun 500 40 20000
18811130 |Ywnisnilyhg Gnpwdnp Ynghliubn S< qnug 4000 10 40000
44511200 JUnng wjqtignpdwlwli 450 Uu e hwwn 2200 4 8800
44163140 [lunnnywy hudtinL pph d=32 G< dtnp 250 39 9750
39241270 _|2tinph upulhy wigbignnauwlwl < hwin 10000 2 20000
4453119/3  |Nunnwiulynil junnnywly JGunwnwlwl 8*8ud 2Ud | < dbwnp 4000 40 160000
18221100 JUuppwlghly hwgniuwn /wlidnluwling/ phijung / Q< hwin 3000 40 120000
44192610 Ut ohliwpwpwlywl < 4g 1200 1 1200
44521120 |nwl thwlwlutn < hwin 3000 3 9000
444111201 |Snpwly uwnp Q< huwin 3000 3 9000
44110000  [Upuwnwhwlhs Unue /pinp / Q< g 1500 30 45000
39224331  |'Mwuwndwut nny| 40 hinpwlng qQ< huwitn 2500 4 10000
39221400 |Unpeh wnwpwy / 120 thup / 9L hwwn 800 300 240000
31661100 _|Ejkhwinpnn, A3 % | hun 44 1000 44000
42661300/3 |[Gplwnwgdwl 2unp 5U q< dbwnp 2600 4 10400
44112730 |4wpnn uywdwnwy Uts 230 nhwdbunn /wpshu/ QL hwn 1600 30 48000
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44112739 q< g 1750 60 105000
44111200/1  Jihuwn UGunwnwywl 0.03UJ S pd 13500 30 405000
44511200/1  |eph thwywl ppnlgt 9L hwn 1800 20 36000
44511200/2 |funwnhuéhsh nujwil QL hwn 2200 10 22000
4441112072  Jnwpwgynn dnpwy / EGYnpuwywl / Q< hwwn 12000 2 24000
44411120/3  |21wlg nGuphUuk / wygnL gph/ < dbuinp 300 60 18000
39241250 |GrwlygUwl uwnp / wwjywih wwwnwwn/ < huwtn 20000 1 20000
39241250/1 [wulnituwhnyhs thnpp / pwigwnyw / < hwtn 30000 1 30000
31661100 |Jwlwdtg / 4*14*50Uu / < hwun 1801 10 18010
44411120/4  |thwYwu onph / 4 nnuyd / G< hwtn 60000 1 60000
44511201 hnpwnhy UGS / wendwnwwnnp / QL hwtn 60000 1 60000
44192610/1 Jnwfunwy 2huwpupulywu QL fud 130000 2 260000
44111200 | UGtnwnwywl fhuin 3ud Q< pd 12000 10 120000
16311400 Jfunwnhléhg Ul hwwn 219700 1 219700
CunwuJtup 2999360
44111207 [Wuyniuwy /nignuply/ 4*4 hwuwnnienil - 4Ud Q3 dbwnp 1200 120 144000
44111205  |wulyniuwl /nugnuhly/ 7*7 hwuwnnipnil - 5Ud Q3 dbwnp 2600 10 26000
44111200  |jhun JGinwnwiywu 2Jd a3 pu 11250 60 675000
44111201 |shutiwy / wGwngh 1 14*20 a3 hwin 500 40 20000
44111202  |ubply Yuwiwg / jnunquiusny / a3 Lig 4500 30 135000
31661109  [nwuwnywnhunb) a3 thwp 850 20 17000
CunwdJtlup 1017000
31512360  |wywindbpbuwih gnpg nbwnhthg / (pwljwagd / Q3 hwuwn 20000 1 20000
31512360  |wuywnnn ghy pinuwwwph/ 8,25 R 20 / Q3 hwn 61000 6 366000
31442100  |wudwnnn ghy penuwwnwpp/ 900 R 20 / a3 hwn 70000 6 420000
09211100/1  {wudwnnn Ywdwq 11,R22,5 Q3 huwn 105000 6 630000
34391100/1  |wuywnnn nuug whlywyy 225*75 R 16 Q3 hwuwn 36000 4 144000
34321160  |wudwnnn owhy 185*65 R 15 a3 hwn 15000 4 60000
343211212 |dwpwlyng ot 75 w * 12 4 a3 hwwn 32000 1 32000
33191470/1 |dwpwlyng nuuq whlww 75 w * 12y Q3 hwn 32000 1 32000
42121150 [Jwpwnlyng Ywdwg Gypn 200w BLAC HORSE Q3 hwn 86000 2 172000
34321130  |Jwpwnlyng UU2 200w BLAC HORSE a3 hwwn 86000 2 172000
34311170 |dwpwlng ghy 140 w TUAGSTONE PROF Q3 hwwn 59000 1 59000
34321121 [dwpwlng ghp 140 w TUAGSTONE PROF a3 hwn 59000 1 59000
34321121/4  |Swn 17 / dnuwh jnin / a3 (hwp 2450 40 98000
34321160  |Gupnuiwjht funqndwly 19 hwdwp 1,5 dbwnp a3 hwwn 4500 10 45000
31440000 |Gupniwiht funqndwy 24 hwdwp 1 dewnp a3 hwtn 4500 10 45000
31440000/1 |qnpdhpubiph hwjwpwdnt / Yinygubph twpnn / Q3 hwn 15000 4 60000
34331300  |Ynuoh wwnwdubp / Epulwdwnnp / a3 hwtn 20000 20 400000
34331300 |nhqbjht gwpdhsh jnin 15*40 wnippn nhab) Q3 thunp 2500 200 500000
34331300  |pblghtiwhts puipdhsh jnin 10*40 Q3 | wp 2500 100 250000
31512360  |owpdhsh ElEYwnpwluwdwiht dndtp / hwwnnyg / a3 hwtn 250 32 8000
34331300  |hwlwuwnhs hbnndy Yuwnywn / uwhpn / Q3 [hwp 1000 91 91000
31512360  |dkluwplhs / unwpinbp ghy plinbwwnwph / Q3 huwtn 30000 2 60000
34331300 |jwdy Ukd / hbwnbidh unnugh / a3 hwuwn 200 100 20000
34331300 |owby ubndwgnighs wnglh / winpnhqunnp / Q3 hwtn 15000 2 30000
34321130  [owt) Utnuwgnighs htwnlh / wdnpunhquiwnnp / a3 huwn 12000 2 24000
34911150/1  |pph wnuuy gnpdwpwlwihU -2h) penuwwnwn / a3 hwin 45000 2 90000
34911150/2  {onh $hiwnp / Ywdwg Gypn / Q3 hwwn 10000 4 40000
34911150/3  |jnLnh $hiunp / Ywdwg Gdpn / a3 hwin 4000 4 16000
331914702 |nhq ywnthph $hiwp / Ywdwg Gypn / a3 hwn 2500 4 10000
33191590 |hwybih UGs / gh pEnuwwwnh / a3 hwwn 2000 4 8000
34911150/4 |pwindhsh nbwnhut gnunh / Yudwg GYpn / Q3 hwwn 2000 4 8000
34321160/1 |nnjhy, nEUGL , (nwlwad / Ywdwg Gynn / a3 hwn 25000 1 25000
34911150/5 |onh $hpnp / unLwtp Jwgq / a3 hwn 10000 4 40000
34911150/6 [jnLnh $hiinp / unwwbip dwg / a3 hwn 4000 4 16000
34911150/7 |nhq Ywrbihph $hiwnp / unwtin dg / a3 hwwn 4000 4 16000
34911150/8 |ntwnhUt gnunk 2wndhsh / unwwytip Uig / Q3 hwn 8000 1 8000
34911150/9 |onh $hywnn / inbnbipu Epuywywinnn / a3 hwuwn 10000 4 40000
34911150/10 |jnLnh $hnn / tnbntpu Epulwdwnnn / a3 hwn 4000 4 16000




34391100 |nhq Jwnbihph $hiwnn / inkntpu Epujwdwwnnn / 93 hwtn 4000 4 16000
34391100 |nbwhUt gninh 2wndhgh /intntpu Epuwywnnp/ a3 hwn 2500 10 25000
343311001 jwuwjwhnuhs / mncthny / a3 hwn 1000 10 10000
31687000/1 |nGnwnnLih / wnwehl oguniejwl Ubptlwjh / a3 hwwn 3000 7 21000
34331100/4 |Ypwldwphy / deptUwih thnpp /wgubninphwnt / Q3 hwn 4000 7 28000
34331100/17 [Uuwnwnwlh shuni / uhnGuhUh shuny / Yudwgh a3 hwwn 10000 2 20000
34331100/18 |Uuwnwpwlh shuny / puuagd / owb| a3 hwin 15000 2 30000
34331100/19 |unwniwn / jwy Ynpwlyh / a3 Ug 2500 30 75000
42121190  |hbpubwnhy / UbpGLwih / pnLuwlwl / thnpp / Q3 hwtn 700 20 14000
34331100/24 |hGwlh unnw / Yuwdwg wnpwwnwn / a3 hwwn 6000 4 24000
34331100/3 |hGwinlh unnwy / gh] wnpwwwp / Q3 hwwn 6000 4 24000
34331100/6 |nnigun; Ynwlhl / ghy wnpwwwph / YuphUlh / Q3 hwn 10000 1 10000
34331100/7 [onh YnuwpGuwwnnph nGU YndwGyw / ghy/ Q3 hwwn 10000 2 20000
34331100/8 |hhnpwyihy jnin / rnLuwywl / a3 hwwn 2000 150 300000
3431120012 |Sknbtpu Epulwywinph hEwnlh uinny a3 hwun 20000 2 40000
343311005 |Swniwnh uwnhs Q3 hwn 5000 4 20000
343311016 |jnLn 2w / nenidpuih jnun / updhp a3 hwn 2500 10 25000
343311200 g Jwnbjhph dnhs / Uwunu uwywplh/ a3 hwwn 50000 1 50000
34331300 |Onh YndwpGuwwnp uu hwtn 75000 1 75000
34331300/1 LG Lwunu /Unhy/ 50 adwfu uu hwuwn 45000 1 45000
343313002 (LG Lwunu /Unhy/ 50 dwfu uu hwn 45000 1 45000
34331300/3 |PnLuwnp wpgbuyuwu uu hwwn 30000 2 60000
34331300/4 |\GLYwjhu bwywlEsuhy uu hwn 5000 4 20000
34331300/5 [YnunLuh pwsgny uu hwn 15000 1 15000
34331300/6 [hujwgnighy [nwlwad /gin2huinty uu hwn 23000 2 46000
CunwuJtup 5188000
3iaaisor |-k sRUUHMmnnh Shpdtitscnutubn uu| hun | 41000 | 4 164000
Ipwywigu/
3433130121 |SUrHRu ERubwiduitnnh auindhsh giruhb uu| hun | 61000 [ 1 61000
UhpwnhpUtp /ipwiywqu/
34331301272 |S0mURY ERULWYwnnh uindhh 2wnduwieli Uu| hun | 37000 | 1 37000
- [UBpnhp Apwyigy/
343313012/3 [Stintipu Epulwywinnnh 2wndhgh jnLnh qupg uu hwwn 8500 1 8500
343313012/4 |Sknbpu Epujwywinnph 2wndhsh JnLn uu (htnp 3400 15 51000
343313012/5 |Shntpu Epuljwywinnph thnjuwugdwl wincthj jnun | UW thtnp 3600 25 90000
343313012/6 |Stntpu Epuywywwnnph thnfuwugdwl winthh qunpy| UW hwn 31000 1 31000
343313012/7 |Stnbpu Epulwywinnph Ywdpgwyh jnun / Unuwn / uu (hwp 2400 10 24000
Cunwdtup 466500
09211100/1  |2wpdhsh uhgwnhputp / (puywad / a3 hwtn 10000 1 10000
34391100/1  |2wndhsh dLadwu onwlutp a3 hwn 15000 4 60000
34321160  |2wpdhsh 2wndwprlch UGpnhp /inwlwagd / Q3 hwn 15000 1 15000
343211212 [nhuyh wihwnw / nulwad / 93 [ huwwn 35000 1 35000
33191470/1 |gnh funnnywyutn rbGwnput / ywnnnowyyw / 93 hwtn 10000 1 10000
42121150 |ynLinwyhg / nhuwdn / a3 hwn 55000 1 55000
34321130 |UGUuwnyhy / unwpuntn / a3 hwn 28000 1 28000
34311170 |wpgbwydwl dnwjwl / ninnu / 93 hwn 7000 1 7000
34321121 |wngbwydwl suzhgutin wnglh Q3 hwn 15000 1 15000
34321121/4  JwpgbuyUwl suzhsbtn hnleh Q3 hwn 10000 1 10000
34321160  [pph Unhg /wndw / Q3 hwtn 10000 1 10000
31440000 nbUGU RNy / (ubwad / 93 |  hwwn 8000 1 8000
31440000/1 Ywdwgh nhuyh wihwnw / (puywaqu / Q3 hwtn 100000 1 100000
34331300/1 [2inwliquijh wwitg / Yudwaq / a3 huwtn 7000 = 28000
34331300/2 |Uthuwpyhy / utnwpuntn / Yudwg / a3 hwin 110000 1 110000
34331300/3 |wpgbiuyuwl pniunnn / udwq / a3 hwin 20000 2 40000
31512360  |wnpwupynp phqynuwnwlywn / ghy/ a3 hwwn 23000 2 46000
34331300/4 |EGUunpwywdwihl Undtnh wintn / ghy/ a3 hwtn 5000 2 10000
31512360 |onh YnuwnpGuwnnp / ghy/ Q3 hwtn 70000 1 70000
34331300/5 [wnnwlghuwnnp hnuwlph / ghy/ a3 hwn 4000 10 40000
34331302  |uwnnuhgwih wwskJuhy /wnwugpwwy/ /ghy / a3 hwtn 12000 4 48000
34331308 |phgnl quyyw wldwnnnh / qhy/ a3 hwtn 2000 40 80000

CunwUBuUn
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34331300/8 | ntjyw wwjn / GpUwpnuegncu 2 J /7*5/ uu huwin 3000 140 420000
34331300/9 |hbnynLu Uwlky Uy L 1800 15 27000
CunwdJtup 447000
31521440/1  |3*1 uwhwnwly 200}, (wkin)L68-1 UU |  hwwn 2800 40 112000
31521440/2 |3*1 tnwp uwhuwl 200}, (wbn)L68 uu hwn 2800 40 112000
31521440/3 |Lnyu wuinn dG& 755 uu hwtn 4600 20 92000
31521440/4 |Lnyu 1004,800L, uwhiwnwy, jwp Z55 uu hwwn 7800 30 234000
31521440/5 |Lnyu ubd qunhy, tnwpuwhunwl, 504, 729 uu hwin 4500 34 153000
31521440/6 |Lnyu uwnnuyg, 54, 20 h Z33 uu hwn 1300 25 32500
31521440/7 |Lnyu uwnnyg, 54, 20 h Z32 UU| hun | 1500 20 30000
31521440/8 |Lnyu Uuwnn uyhwwl 3,50 L141 uu hwn 2200 18 39600
31521440/9 |Lnyu Pwph) uwhwnwy 3,54 L143 uu husn 2500 18 45000
CunwuJtup 850100
98390000 |Ynuniuwy dwnwjniRjnLlubn Uu | npwd 100000 1 100 000
98390000 |Uwulwghwnwlwl dwnwjnipjncultn uu nwd 400000 1 400 000
Ubkphuwubph L uwppunnpnudubph ppw
50111130 |, - [f; = unslmmml:.ﬁmllls pinkdnbg (K gHly sy | nnwd | 1000000 1 1000 000
66511170  |Uwwhnwgpulwt swhuubp /UNTUW/ uu npuwid 400000 1 400000




